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QUESTION 1

What is an acknowledged advantage of telecommuting?
A. It helps to reduce carbon emissions.

B. Remote meetings are more productive.

C. Work gets done more easily.

Correct Answer: A

QUESTION 2

What does influence the cost of electricity?
1.

The cost of fuel and capital

2.

The cost of transmission and local distribution
3.

Regulation

A. All of the above

B.only 1

C.only1and 2

Correct Answer: A

QUESTION 3

You work in a typical office building and the lights are always on. Using which lighting source could make the most
significant dent in energy use?

A. 30-Watt Fluorescent bulbs
B. 40-Watt Fluorescent bulbs
C. Incandescent bulbs

Correct Answer: A
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QUESTION 4

Which puts IT in an excellent position to contribute to a sustainable world?
A. IT is not a big consumer of electricity.

B. IT does not create a lot of waste.

C. IT can help other industries to work more efficiently.

Correct Answer: C

QUESTION 5

Using too much lighting is of course raising the energy bill unnecessarily. What is another important human reason for
not applying too much lighting?

A. It takes too long to switch them all on and off.
B. Too much lighting can irritate people on a physiological level.
C. Too much lighting generates more heat.

Correct Answer: B

Latest EX0-111 Dumps EX0-111 VCE Dumps EX0-111 Braindumps

Latest EX0-111 Dumps | EX0-111 VCE Dumps | EX0-111 Braindumps 3/3


https://www.passapply.com/ex0-111.html
https://www.passapply.com/ex0-111.html
https://www.passapply.com/ex0-111.html
http://www.tcpdf.org
https://www.passapply.com/ex0-111.html
https://www.passapply.com/ex0-111.html
https://www.passapply.com/ex0-111.html

